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(1)
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©)
4)

Q)

(6)

(™)
®)

©)
(10)

(11)
(12)

(13)
(14)

(15)
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20T T 2003808 Ty, BIFYNTY, FROTPONAT WFTN, STTR SRR ZROTOVAT YUBTNEy NXITE
éﬁcﬁam%ﬂmm@@@

uﬁaﬁmomo&afud VZT WTEPOWRLD WYY,

TesRFoDE YVBS BRRBAYR) 3, WEme Aed Wk BINOT FRoTRIRWEB. BIOVT FRoTOIT
QUITNY I} AT BRBRMRRY,
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MSCE st735°30, 355,088 ¢v30 20w Deuacs 10 0390, 5eex | 37 | 9385 | I31ds s7 3¢,
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SECTION - 1
ENGLISH

01. Choose the correct alternative to complete the following word chain of
alphabetical order.

Pan | —» | Pen | — — — | Pull
(1) Part (2) Potter
(3) Punish (4) Push

02. Choose the correct alternative for the sentence given below.

Please give me one rupee note.
(1) an (2) the
(3) no article 4) a

03. Observe the picture and choose the correct option for it.

2

the plants regularly.

S
VA
"y
(1) Plough (2) Prune
(3) Weed (4) Water

04. Find the different sound of the letter ‘C’ from the following alternatives.
(1) Cart (2) Count
(3) Centre (4) Card

SPACE FOR ROUGH WORK
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0s.

06.

07.

08.

Choose the correct alternative.

Yusuf is reading a newspaper. His brother wants to call him for the dinner.

He requests

(1) Please keep reading. (2) Excuse me, brother.

(3) Good afternoon brother. (4) You are welcome!

Find the correct word to complete the message given below.
PLANTS NOT GARBAGE

S | G| z | T

E | R | O|C

W | O | Y| U

E | W | X | T
(1) SEW (2) CUT
(3) GROW (4) ROOTS

Find the sentence with the incorrect punctuation mark.
(1) How are you! (2) How nice!

(3) What a surprise! (4) Are you crazy?

Select the proper option to complete the word register.
growl, cluck, buzz, squeal,

(1) blow (2) share

(3) croak (4) flow

SPACE FOR ROUGH WORK
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09. Select the correct alternative.

He a letter yesterday.
(1) writes (2) wrote
(3) write (4) writing

10. Ruby meets her friend at the lunch time. How will she greet him?
Choose the correct option.

(1) Good evening. (2) Good night.
(3) Good morning. (4) Good afternoon.

11.  Find the punctuation mark missing in the following sentence.
He said, “Its just a matter of practice!”
(1) Comma (2) Exclamation mark
(3) Apostrophe (4) Full stop

12.  Observe the picture and choose the correct alternative.

What is the girl doing?
(1) Sweeping (2) Cooking
(3) Climbing (4) Singing

SPACE FOR ROUGH WORK
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13.  Read the riddle given below and choose the correct option.
You open your mouth to do it.
It shows you are sleepy. What is it?
(1) Cough (2) Yawn
(3) Sneeze (4) Dream
14.  Select the correct option for the following sentence.
February follows in the calendar year.
(1) March (2) December
(3) April (4) January
15. How many mistakes of capitalization are there in the following sentence.
Raju : what ! a girl like smita, working in a shop.
(1) 3 2) 2
3) 1 4 4
16. Choose the correct alternative.
My number is 20 in the row. So I am in the row.
(1) twenty (2) twenteenth
(3) twentieth (4) twenty-first
17.  Select the correct alternative to complete the following sentence.
He blinks his
(1) toes (2) ears
(3) nose (4) eyes
SPACE FOR ROUGH WORK
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18.  Identify the shape given in the picture. Choose the correct option.

(1) Cone (2) Cube
(3) Sphere (4) Triangle

19. Observe the picture and select the correct alternative.

There is a cow the tree.
(1) above (2) over
(3) under (4) into

20. Choose the incorrect pair from the given alternative.
(1) Will not - Won’t (2) Shall not - Shalln’t
(3) Let us - Let’s (4) Have not - Haven’t

SPACE FOR ROUGH WORK
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21.

22.

Find the correct alternative for the following sentence.

They garments in the
(1) sell, sail (2) sale, sail
(3) sell, sale (4) cell, sale

Select the correct option for the following sentence.

The sun is always in the direction at 6 p.m.

(1) East (2) West
(3) North (4) South

Instructions for Question 23 to 25.

Read the passage carefully and answer the following question.

Mother Duck was really proud of her six new ducklings. They were soft,
fluffy and yellow. Such fine little ducklings! But the seventh one was very
different. It was bigger and its feathers were gray and shaggy.

23.  How many ducklings are mentioned in the passage?
(1) 6 2) 8
3) 5 4) 7
24.  Find the ordinal number mentioned in the passage?
(1) Six (2) Seventh
(3) One (4) Shaggy
25.  Find the opposite of the word ‘same’ from the passage.
(1) Fine (2) Shaggy
(3) Different (4) Flufty
SPACE FOR ROUGH WORK
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26.

27.

28.

29.

SECTION - II
INTELLIGENCE TEST

In the following sentence how many seven letter words are more or less than
five letter words?

‘Shivaji Maharaj is a great Maratha King.’

(1) More by 1 (2) Less by 1

(3) More by 2 (4) Less by 2

Prepare a meaningful word from the letters, ‘B, E, N, T, I, O, D, E’. Which
letter will be at the third place from the right side of the meaningful word.
(1) B 2) 1

3) O 4) E

In the given number series how many times is the sum of two adjacent digits
is a ‘Prime Number’.

(7,8,9,2,0,1,3,5,6,81,1,1,2,5 )

1 9 2) 8
3) 7 4) 10

( ABCDE FGHIJ KLMNO PQRST UVWXY )

In the given alphabetical series, which pair of letters from the following options
is not at equal distance from the 14! letter from the right side in the alphabet
series?

(1) GU (2) FR
(3) BV 4) 10

SPACE FOR ROUGH WORK
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ABCDE|FGHTIJ KLMNO|PQRST|UVWXY

26.

27.

28.

29.

en - 11

LD JToeF
) = =5

JBesT EBTOOD WY, YVBON FODFTN B[O FBFTH  TRIFCT” 0T
FB030030.
00T TFTY, Fo03TYET BWNRY B0g3, R?

Q ) e
(1) 38 2) 9
3) 7 4) 10

B0 FETY, ‘S’ BT WFONY FoBcd0 ‘Y TT WIVNY FosBN0B ROOT
B3R LB éz@gﬂ Q39
‘BrER BoIFe DITO et BRI TAUT STV’

(1) 4 00 &3, (2) 6 003 s@aH (3) 6 0o T, (4) 4 00T @D

3INT BoomRAONY, TROO0T WIE WHCH BoBAY edewd ‘Wrwzod’
QTTT. Lert R, B 2o0T?

(7,8,9,2,0,1,3,5,6,81,1,1,2,5 )

Hh 9 2) 8
(3) 7 4) 10

( ABCDE FGHIJ KLMNO PQRST UVWXY )

0edT QONET TS BRAODY, LOWHOWOT 14T TRIOFT LTTNOT TRRT
©0Z00 e vQrE wITiee® MOTIED.

(1) GU (2) FR
(3) BV 4) 10

BTV B FOTFN
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F GHIIJ| KLMNO|PQRST|UVWXY

Q.30. to Q.34. Directions:

Select the odd term.

30. (1) Cow - Bull (2) Father - Mother
(3) Peacock - Hen (4) Groom - Bride
31. ®
vl
) () 3) (4)
32.
(1) ) 3) 4)
33. (1) 5668 (2) 3932
(3) 6978 (4) 6592
34. (1) 644 (2) 944
(3) 477 (4) 955
SPACE FOR ROUGH WORK
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A B

C

D E

F GHIIJ| KLMNO|PQRST|UVWXY

3 8=R08 30 007 34T FLomN Aoes:
rooart BRoBE BB, MO0

31.

32.

33.

34.

() &% - deed (2) ot - 3OW (3) B - T (4) [3 - [P

®
® B ot
(D (2) 3) (4)
(1) (2) 3) 4)
(1) 5668 (2) 3932
(3) 6978 (4) 6592
(1) o644 (2) 944
(3) 477 (4) 955

BTV B FOTFN
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Q.35. and Q.36. Direction:

Consider the pattern in the given number series and select the correct option
to replace the question mark.

35. 196, 144, 100, 64, ?

(1) 49 (2) 16

(3) 36 4) 56
36. 7,8, 11, 17, 27, 42, 2

(1) 69 (2) 63

(3) 59 4) 62

37. Select the correct figure from the options to replace the question mark.
Question Figures :

N

Jle

Answer Figures :

o) (e (B Il

\ % \ \
(1) (2) 3) (4)

SPACE FOR ROUGH WORK
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A B

CDE|F G H

I JIKLMNDO

PQRST

UvwXyY

3 3RcE 35 TN 363 TN RewR:
AROeDHaNDH FoalRe BB ARFRR), ARFIY, Iriciromy BFuaen
2959, wOHR FozdcBH) BCIRFOHOOT SOD.

36.

37.

196, 144, 100, 64, ?

(1) 49
3) 36

7, 8, 11, 17, 27, 42,

/N

?

16

@) 56

2) 63
4) 62

RN WTOT BT CIRFTO?

YUZT TSN ¢

=)

%
~»

.{3_| |_ﬁ {3 o) |
\ \4 \ \
(1) (2) 3) (4)
FORO szsaw é@ﬁ@éﬂ
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38.

39.

40.

41.

42.

In the given series of symbols select the correct group from the options to
replace the question mark.

+02000 P R OP 0 4+? +00
o 9400 o 400
o G400 @ 0400

Select the wrong term in the given number series.
16, 22, 26, 39, 62, 74, 102

(1) 74 (2) 62
3) 39 (4) 26

Seven years ago sum of ages of Kavita, Manisha and Suvarna was 45 years,
then what will be the sum of their ages 5 years hence?

(1) 81 (2) 50
(3) 57 4) 59

Pratik likes to play Kabaddi and Kho-Kho. Palak likes to play only Langadi.
Vedant likes to play all sports. Pranjal likes to play Langadi and Chess and

Roger likes to play all sports except Kabaddi, then from the options find who
likes to play Kho-Kho?

(1) Pratik and Vedant (2) Pratik, Pranjal and Roger
(3) Vedant, Roger and Palak (4) Vedant, Pratik and Roger

If Honeybee is called Ant, Ant is called Cobra, Cobra is called Sparrow and
Sparrow is called Hen, then who will live in the anthill?

(1) Cobra (2) Ant
(3) Hen (4) Honeybee

SPACE FOR ROUGH WORK

0802-Kannada Set-A 14 of 32 Contd...



ABCDE|FGHTIJ KLMNO|PQRST|UVWXY

38.

39.

40.

41.

42.

TINS WBNY IRIFODNY, BF WIHNY IFTY, WIDT WIHNE Mo0FY SO0,

% =y ®

+0PO00 P P00 4P 400
o 940 o Q40
o )40 o 400

3SNT #o@@s BRAFONAYD ITE TG MOTISR0.
16, 22, 26, 39, 62, 74, 102
(1) 74 (2) 62 3) 39 4) 26

7 BRFNY BT 309, BT TN AORTF R0 RCPRONY e3edend 45
SRE YBY; TWET 5 SRFNG $08T €50 WODAINAY 3edewd DR, ToR)TO?
(1) 81 2) 50 (3) 57 4) 59

BTN BWER Tone 3Re-2BRe B YR, . BUTIN T BoLDW K, FemoZAN
DY BN 9T, TOROAR B0 Tene WBHROTON ©i8 AR, Tone TPRT'INR
TG, W), NVVTIQ, SN 0T, TS dpe-2Bee 38 95, BRXTHT I$NTZT
T CIRTO OWITI) NOTIERD.

(1) T3eT Tonw 003 (2) T3T TORO TN TORT®

(3) HeTO0Z TXRT® TONL IVT (4) Feto3, T Tone oW

ﬁ"e&%&%ﬁéﬁ Q30 @:)oqwda, QTOBR  TONTTOw) @mc(ﬁda, DIALSISSDINA ﬁoz%z?zd
DTTT, TR Mo Eeee HRVB|3D TMET BZYRQ, 03R3T ATHH3?

(1) =rcm= 2) 23
(3) Zne (4) 2¥eRom%

BTV B FOTFN
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43. In the adjacent figure, how many squares are there?
(1) 225
(2) 55
3) 25
4) 75

44. In the adjacent figure, how many quadrilaterals
are there?

(1) 10
2) 14
3) 12
4 8

45. How many surfaces does the
given figure have?

1) 66 @) 22 L
3) 17 @) 16

46.  Which group of digits will look as it is in the mirror image. Select the correct
alternative from the following alternatives.

608 806 830 853

(1) (2) 3) 4)

SPACE FOR ROUGH WORK
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A B CDE

F GHIJ|KLMNDO

PQRST

UvwXyY

43.

44.

45.

46.

200D 30DhE, WPOING Rol, W, B

(1) 225
2) 55
3) 25
@) 75

20D $3B0NY PNy Fosd, SR, AT?

(1) 10
2) 14
3) 12
4) 8

-
20D @%@ﬁ 20E3), DR,

BRres?
(1) 66
3) 17

IINTRNG P 03 TOIRFONT ©osRY ROOH) 5@{@033@033 B3RoWTY A7,

Tont BFOL3ROR)T?

2) 22
) 16

308

306

600

008

(1)

2)

€)

(4)

BTV B FOTFN
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47.  Identify the mirror image of the question figure and select the correct alternative.

Question Figure: Answer Figures:

(M (2) 3) (4)

Q.48. and Q.49. Direction:

Select the correct figure that is water image of the question figure from the

alternatives.
48.  Question Figure: Answer Figures:
T
(1) 2 3) (4)
49. Question Figure: Answer Figures:
777777777
(D ) 3) (4)

SPACE FOR ROUGH WORK
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47. 38N @mj@éo:b 5:3{@053@933 BBW0W TN TEIRITYTO @owacﬁmq BOSTEOD
QUZC BB ENPOT ROTISRD.

TS - UOUZT $FSNAW !

(1 2) 3) (4)

B3 3=P08 48 TR 49T oA ARU:

TENT BB 0TI BEWowW Terd ToLFRITYTO OO, TOIIEFOD
eU33 ©BINPOT ROTERD.

48. ZEe - UOUZT $FSNAW !
assasass
(D (2) ) (4)
49. =Ese: UYOUZT $FINAW !
77
(D 2) ) (4)

BTV B FOTFN
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Q.50. to Q.54. Directions:

In the given questions first term has a specific relation with the second term.
The same relation exists between third and fourth term. Identify the relation
and select the correct option to replace the question mark.

50. Karamveer : Bhaurao Patil : : ? : Birasa Munda
(1) Lokmanya (2) Maharshi
(3) Senanayak (4) Jananayak
51. Cow : Moo :: Monkey : ?
(1) Hoot (2) Hiss
(3) Chatter (4) Scream

52. Question Figures :

T D) MR
ey e
ANE M[FA, W

(1) 4)

*~

\I >

e

y= =
MUIE%

SPACE FOR ROUGH WORK

0802-Kannada Set-A 20 of 32 Contd...



ABCDE|FGHTIJ KLMNO|PQRST|UVWXY

B3 300% 50 0o 543 FLOTON AeL:
3PN w@"ﬁ%ﬁ@ BATOFCD TN RVBION BINTE. Tert F00RRTO3RE LTse

elove) Nowocﬁ TRTI0D TN TWYFCD JENCY, BT, & FowoRT, MBSO
TNR BIWHOD YR, wB0E YUZTT BIRFAD RITISRO.

50. BROFRET 1 OR)TOm WL i P 1 WTA WO
(1) CRB=RT, 2) Romar
() Aemmaods @) wRmabe
51. 30 : TOosOR 1 O : ?
(1) =R S0 (2) womreson®
(3) nxFS @) wiend

TNl
N

52.  QoRgend

*~

e

i

@Q
M

N

A=/
=
RMSEY
V1|3

(1) 4)

FeTT© smw émmﬁﬂ
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53.

54.

Q.55.

5sS.

56.

57.

42 10 :: 93 : ?

(H 71 2) 24
3) 28 4) 33
8 :64 ::5:7

(1) ol (2) 26
(3) 48 (4) 125

and Q.56. Direction:

Select the figure which exactly matches with the question figure from the four
alternative figures given below.

Question Figure: Answer Figures:
(D 2) 3) 4
Question Figure: Answer Figures:
\'ﬂ
<\ £~
0®o 0® O c®o
D ) 3) 4

If Red, Yellow, Blue, Green and Pink coloured buntings are stuck in the same
order repeatedly, then at which position will be the Yellow bunting get stuck?

(1) 63 (2) 87
(3) 39 4) 78

SPACE FOR ROUGH WORK
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53.

(1) 71 2) 24

(3) 28 4) 33
8 : 64 = 5 : 7

(1) 61 (2) 26
(3) 48 4) 125

B3 =0T 55 TORH 56T FLOTN ARUE:

56.

57.

BINT B 9g88e00r BOTPEDFN TROTIT  SFBOITY, TAIRFOL vgT
STENYOT SOR0.

BT ¢ BT TSN !
(1) () €) (4)
BT ¢ WUZT SFIND !
as
\ £~
0®o 0® O c®o
(1) () €) (4)

3om), YD, D, T MR MY B3 WHHT BJSINYR) ade FRoRT
BREHNT. TOMTET TYH WD TIF FINTIYNGY, 03NT 3[R0THY, WILTT?
(1) 63 (2) 87
(3) 39 4) 78

BTV B FOTFN
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58.

59.

60.

61.

62.

In a row Rajendra is standing in the middle of the row. His position is 23"
in the row. If in the same row Vishwas is standing at 25™ position from left
side then which of the following alternatives is his position from the right side
in the row?

(1) 21t () 20t
(3) 22nd (4) 45t

When Rajnandini was returning to home from school, Sun was setting towards
her left side. In the same position she turned to her right side at the right
angle. Then to which direction will her right hand point?

(1) North 2) South
(3) East (4) West

If Sonal’s 3" birthday was on 19" September 2004, which was Thursday, then
on which day will her 12t birthday occur?

(1) Monday (2) Sunday
(3) Saturday (4) Wednesday

In the year 2020, Republic Day was celebrated on Saturday, then in the same
month which day will occur only four times?

(1) Wednesday (2) Friday
(3) Thursday (4) Tuesday

Observe the given Venn diagram and

choose the correct answer.
What is the sum of numbers which are
only in one figure? Q

(1) 18 A‘l
2) 16
3) 11
4) 20

SPACE FOR ROUGH WORK
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58.

59.

60.

61.

62.

2,000 FOTY ToEdeoT =m0 BOGLRNTY V08T, s FmR0F 23300TNT. &
ORY, TUROWOT 250 BEROTRY, V0STE DTVFFE WO, DTWRT
DF[OD FRROF QTOR)T?

() 21 o (2) 20 JoDd

(3) 22 Fo® (4) 45 o

TOSCOT WOF TREMITON TRJOOIC DBE, ARODF BITIMOIT. B3
RZODNY ToRToOY 2,000 TV FWERETTY, WOWAR ETNTL TMTT ¢
WO, IR DI ABI?

(1) ev33 (2) oo

(3) Ip=E (4) T

ARese¢ 3303 @enEY 19 IZewd 2004 Totd MBS 9EY TMWET &
12303 @), BWETD 0IRE ORI ATTIO?

(1) RRemdz3 (2) TRWT

(3) 3 (4) 2050

20208 BI2Z8 OFT FAe0 SWOISRCWE. TGS & onYY FINTRNG
T ORT O[T FeEO LY, FY WIRT?

(1) wWE=T (2) 3BT

(3) noTow3 (4) oonemed

IINT BT BFI0D QTR [R® YVET

e&30R0.

deme wotde &3 8030YTHT “
208Me Wedewd T2 6
(1) 18 /3D

2) 16
3) 11

4) 20

BTV B FOTFN
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63.

64.

Q.65.

65.

66.

In the given square pattern select the correct option to replace the question mark.

2 | 36 | 4 (1 6
2) 3
5 | 76 | 9
3) 9
1|12 | 7 @ 2

Observe the pattern in the following circles and find the correct answer to
replace the question mark, from the given alternatives.

8 9 3 3
4‘9 12@6 4‘10 9@9
8 8 8 8

(1) 11 2) 13
(3) 7 4) 14

to Q.69. Directions:

A set of terms is given at the beginning of the question. These terms have some
common characteristic. Find out the term from the alternatives that matches the
given set of terms.

Stable, Coop, Cowshed.

(1) Web (2) Beehive
(3) Cage (4) Anthill
September, April, June

(1) January (2) December
(3) March (4) November
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63. 3IINT PBRITY, BIWHOD YT, 03R Fosg, WBFTIO?

<R ®
2 | 36 | 4 (1) 6
2 3

5 | 76 | 2
3) 9
112 | 7 @ 2

64. 3ISNT TSNS @@e?ﬁ R[PEO TN e,jzi 23 qoda :jp%fcﬁef;q o3 m’o@ﬁes WTOTHTI
@owddoq DOIRECDNRLOT 300.

8 9 3 5
4‘9 12@6 4‘10 9@9
8 8 8 8

(1) 11 (2) 13
(3) 7 4) 14

T3 3008 65008 69T FLoTN AedR:

Z3oD TR, TR BERYI FRBANG. SHNG BRRT AR, NOTTTON

>

2,000 TO0F) SOIRTINIZT. & Mookt FeTdT TWeIY, TOIRFODNOT SO0,
65. 3R, woad, nwmed

(1) =g (2) 2o

(3) Ty, (4) HerdTweS
66. RTEWT, DT, WHF

(1) =Jex0 (2) &Fowo

(3) B (4) S=pes

BTV B FOTFN
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67.

68.

69.

70.

71.

4205, 6427, 8729

(1) 5407 (2) 3217
(3) 3249 (4) 6245
(512, 64), (216, 36), (27, 9)

) 1, D (2) (16, 4)
(3) (353, 49) 4) (225, 25)

Question Figures :

O

©
>

NS

JN) | /) A

(1) 2 3) (4)

In a certain code language ‘COT’ is written as 357, ‘TOP’ is written as 513,
‘TAP’ 1s written as 431 then how to write ‘COAT’ in the same language.
(Letters and numerals are not in order.)

(1) 1743 (2) 7543

(3) 1574 4) 1375

Answer Figures :

©

In a certain code language 35 : 345, 48 : 4168 and 29 : 2499 then in the
same code language 58 = ?

(1) 538 (2) 5138
(3) 5258 (4) 598

SPACE FOR ROUGH WORK
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67.

68.

69.

70.

71.

4205, 6427, 8729

(1) 5407 (2) 3217

(3) 3249 (4) 6245
(512, 64), (216, 36), (27, 9)

(4, 1) 2) (6, 4)
(3) (353, 49) (4) (225, 25)
TTAFSND

A fo

NS

@@

(1) 2) ) (4)
2,00 ToFedT RN, ‘WdT’ B @R, ‘WOBRT' Howd, ‘THORW’ B3
BURT) TOTHW’ Bowd, ‘DTF’ B BN, ‘WOLTI’ Ford WITNRD.
BMRTY wile PpRODY, ‘TR’ B8 BRI, Tert W07
(1) SeT=ST (2) SROFPES
(3) ST (4) SRR
20030 F00FedT (RTWODE 35 = 345, 48 = 4168 Tone 29 = 2499 OO
2B030R3D TRET Xk PRODY 58 = HR?
(1) 538 (2) 5138
(3) 5258 (4) 598

©

QBT SFIND !

©
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Q.72. and Q.73. Direction:

Symbol | HH & A | © % ¥ [k @ H

Code 5 2 6 6 8 9 3 9 2

In the above frame the sequence of symbols and digits may not necessarily be
the same. Observe the code in the above frame and answer the questions.

72. In the above code language which digits will represent the symbol * A H
(1) 852 (2) 956
(3) 952 (4) 928

B D+ H~@® -k =2

() H 2 @
3 @ @ kK
74.  While climbing the ramp near the school gate your physically disabled friend
slipped off. What will you do at this moment?
(1) I will inform the Head-master of my school immediately.
(2) I will ignore him and go into the class.
(3) I will laugh at him by seeing him in this embarrassing situation.
(4) I will support him and help him to go to the classroom.
75.  You and your school friends go for a school picnic at Raigad fort. Which of

the below mentioned students action is correct?

(1) Pranjal stands on the surrounding wall of the fort and click’s selfie.
(2) Suyash has thrown the empty water bottle on the fort.

(3) Manasi climbed up and came down the fort carefully.

(4) Ayub has beautifully written school’s name on the wall of the fort.
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B3 3008 72 Ts 738 TN TRR :

72.

73.

74.

75.

2435, H & A &k k| *k @ H
0BeT TRW| 5 2 6 6 8 9 39 2

B0e0T TAFFRY, WH R wosnY TR 008 Oed QTOR)TW D0TIETL VY,
QBI), NROJDYLIFROBY YVITRTI) TRBRF Q0T SO0,

He03 modeds o h A H s wsznemn oin wosned wdRR?

(1) 852 (2) 956
(3) 952 4) 928
©+Hx@®- k= a2

(1) H 2 @
3) @ 4) *k

I BITTT BT WY Q0N QRO 00X (Qe,0n0mON
DT-[PONLD BT TF) BBwwn 2200 I WHR. WTI), Feew Aeey O
BRI

(1) 2WEE BeeN BaRTITFON TeoT.
(2) =2 @R DOFE BRE B[AFBY, BREMIFID.
(3) Qo Q0BT FrecIRCB0T YT B0 TN

(4) QR QPAN ST B, BRIV WNFEREBODETR SRW 0w
TREMITIRO.

‘TOONR Bpede TSCWOT T TN TN LRI Fg R0

3800 AR CdRen@ARORTO?

(1) Bpeeiod DoBoDYTHR e Bdedd K0 WWowe 3D, (Fpeedn) Sriosoz:y.

(2) Ro00TD POIRT AOT PO, TR Boedode HATI.

(3) RSB BRCLOD e TOWETTN LOT WOBY FOWTITN BPT.

(4) a0 Bredodd ReedoDd e BooTT BATTTY, FHT0D TITO WIT.
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